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CHEMISTRY 

CHE-05 : ORGANIC CHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer all four questions. 

1. Answer all five parts : 	 5x1=5 

(a) Write the structure of any one of the 

following compounds : 

4-Aminopyridine 

1-Nitronaphthalene 

(b) Give the IUPAC name of any one of the 

following : 

(i) CH3CH2OCH2CH2CH3 

 HCONH2  
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(c) Write the structure of meso-tartaric acid. 

(d) Which one of the following compounds will 

be miscible with water ? 

(i) Diethyl ether 

(ii) Glycol 

(e) Why does trans-1,2-dichloroethene have zero 

dipole moment ? 

2. Answer any five parts : 	 5x2=10 

(a) Complete the following reactions : 

NO2  
Zn + aq. NH4C1 

NO2  

NaSH + CH3OH 
 A 

	 ? 

> ? 

(b) Write the structures of products formed 
when CH3CH2CONH2  is reacted with 
(i) LiA1H4  and (ii) Br2, NaOH followed by 
H2O. 

(c) Give the structure of the product obtained 

when 2-methylbutadiene is treated with 

ethene. What is the name of this reaction ? 
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(d) Write the structures of the following : 

(i) S-2-Butanol 

(ii) Z-4-Chloro-2-pentene 

(e) What is cetane number ? Give the structure 

of a compound which has highest cetane 

number. 

(f) Why is 2-chloropropanoic acid a stronger 

acid than 3-chloropropanoic acid ? 

(g) Which one of the following will have a longer 
value and why ? 

(i) CH3  – CH = CH – CH = CH – CH = CH 2  

(ii) CH2  = CH – (CH2)3  – CH = CH – CH = CH2  

3. Answer any five parts : 	 5x3=15 

(a) Identify A, B and C in the following : 

HOCH2CH2C1 + KOH —> 

A 	  
C2H5MgBr B  H+ /H20 

>  
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(i) 

(b) Complete the following reactions : 

HNO3  

H2SO4  ? 
625 K 

Zn  >? 
CH3COOH 

(c) Identify I, II and III in the following : 

H 

AlC13 	Zn / Hg 
+ CH3COC1 -> I 	

 
> II 

Conc. HC1 

LiA1H4  

III 

(d) (i) Write possible peptides of Gly and Ala. 
(ii) Write the structure of fi-D-glucopyranose. 
(iii) Define saponification value of a fat or 

an oil. 

(e) State Markownikoff's rule. Explain it with 
the help of a suitable example. 

(f) Write the structure of the major product 
obtained by dehydration of the following 
alcohols and give reason in support of your 
answer : 

(i) 2-Butanol 
(ii) 2-Methylpentan-2-ol 

CHE-05 	 4 

	>? 



(g) What is trans-esterification ? Explain with 
the help of a suitable example. 

4. Answer any five parts : 	 5x4=20 

(a) Write in detail, the mechanism of any one of 
the following reactions : 

(i) Reformatsky reaction 

Aldol condensation 

(b) Write short notes on any two of the 
following : 

(i) Chain isomers of pentane 

(ii) Acidic nature of terminal alkynes 

(iii) Basic nature of amines 

(c) State four structural features that a 
compound must have to exhibit the aromatic 
character. 

(d) Explain with the help of suitable examples : 

"Tertiary alkyl halides are more reactive 

than primary and secondary alkyl halides in 

SN1 and less reactive in S N2 reactions." 

(e) Which one of the following carbonyl 
compounds is least reactive and why ? 

(i) HCHO 

CH3CHO 

C6H5CHO 

(iv) C6H5C0C6H5  
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(f) Complete the following reactions : 

1. 03  
(i) CH3CH = CHCH3 	  ? 

2. Zn / / H2O 

(ii) C6H5N = N+Cl-  + 
	

N(CH3)2  —> ? 

C6H5NHCOCH3  + Br2 
CC14 

 ? 

(iv) C6H5OH + (CH3C0)20 	? 

(g) Draw all possible ' conformations of 
1,2-dimethylcyclohexane and compare their 
stabilities. 
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iirwrq izrrm (41..7u Tft.) 

trftwr

, 

 

‘4, 2019 

TRP:t4 *MR' 

111.7‘.t.-05 : ctt Pch IRRT4 

FP:Pi :2 E7u2" 	 alfilWaV 3/W : 50 

*: ?oft wrrr N7-4 * 3-d?' ef47 

1. Trift litW 1174 	tNR : 	 5x1=5 

() fAHRiRsio 16110 4 A %-Tft Fa-  A't 

(i) 

1-.11% 4..vi 

(w) PHRIRsid 4 A f+-Ert qw T1 aT4.101...111. 

RTIT tf4R : 

(i) CH3CH2OCH2CH2CH3  

(ii) HCONH2  
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(7) ff 	3111 	fAR 

(v) -144-ifZiRact 4 .4 Aq.-4r 	 Trrir 
-Riluftzr 	if ? 

(i) 4IW 	 

(ii) 1 014Chicei 

(t;) rit41- 1,2-S14Crcl 	 3TrEkui k-ef 
? 

2. 	 cflw. 	tf--47 : 	 5x2=10 

() 
-i1-1 	ci 31114--err3ll 	-‘1r— R : 
NO2  

Zn + Ac-nt4 NH4C1 

NO2  

NaSH + CH3OH 
	> ? 

  

A 

74 CH3CH2CONH2  1 3Trift4T (i) LiA1H4  

(ii) Br2 , NaOH 	i 	TfT2T *1 

	 t, 	ARE 3-0:11-41 	 iffitR I 

(7) 7q.  2-4iirioediv*44 	21.1-1*1721 3TRIWIT 

31R( 3c-ti1< 1 .101-11 tr47 

33-141 1r 	R-rq 
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(14) 14-Gi 	Rgo 	i 	iR : 
(i) S-2-wt4U 

(ii) Z-4-W4k)'-2-Wtq 

412.4 *um 	1c11 	? 	1 tio41( 

tr4R 	4 tium1:1-44 aTfiTw tet 

(a) 2,4.0.Am-1441441 alt, 3-emlilsi144144) aTir 
aTfif 3F-4 aTlf   ? 

AHIZIRgcr AA- 14)tichi Amax  RR aTfiFF -1411 

3411 -4'41 ? 

(i) CH3  – CH = CH – CH = CH – CH = CH2  

(ii) CH2  = CH – (CH2)3  – CH = CH – CH = CH2  

3. 	-er 	lurff*zwIrr4R  : 	5x3=15 

(.) .1 1-4 ci 	AA,BACTIr4ifq7: 

HOCH2CH2C1 + KOH —> 

	

C2H5MgBr 	H± /H20 

	

A 	 > B 	 >C 
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f4+- 	1fMRg cr aTitTl*zrrall*)-  r ANR : 

(i) 	
S Z 

 HNo3  

H2SO4 9  
625 K 	• 

    

(iii) 
NNE  

Zn  9 
CH3COOH 

H 

(7) 
	

H 	fMRg cr > I, II* III 	tr-69-rftg : 

Al C13 	Zn / Hg 

	

+ CH3C0C1 -> I 	. 	> II 
HC1 

LiA1H4  

III 
(V) (i) Gly * Ala 	airlTit Tiva *rr-g 

?A:4R 
(ii) fl-D-imi.14141.41(1*r titaii 61-2g 
(iii) A-kii 	* 	Trfq 

trfoTrErr 11=A-R 
(3) 4-11th eb14) 	 fAIR 14f 	 dcwut *1 
	 sticA oell(S4110* 

() PHRIRSICI Acv441.(1.1* P,314entui N-Rr T§Ei 
	 1=oftT atIK 3374 37T 3 

ce-R chituf tr-A7 : 

(i) 2-1t4TF 
(ii) 
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(U) 	ChVi I Wr 01 	? 31. 0 dqWtul 

tioqcir14 arrIN4r 047 I 	• 
4. f 	1 *13-di tt* : 	 5x4=20 

(T) f4HRIRsio aTtiTfOrrail 4 14 i*Ift 	*r 
it    : 
(i) fi4ni1/441 3T1trWrr 

(-4414 

(LT) A}-i 	1 Rsto 4 A .  f+-41 	TR *km Quil 

ikftR : 

(i) t4R. * trar tisogia 
3T 	r-1-41*=t aTI:F1143rt-ft 

(iii) .A4W 	krIftzr 3rt14  
(Tr)t-1111'e* aTftrm-wr30'4ff */4 * Pm ftt 

zilft* 4 341.4d ara tit-a-11mq) kir 
11-Z.siq 

(10 	0 3-4171311. 	 PH 	Ago w49. t 
wwqr tf*: 

"qcflict) 	 sN1 aTlid*zrraff 4 
spAct) 74 fewr ci hi1451 aTRT* 
adirl*zrretF 14p-g sN2 3lfiti*zrr311 4 .1-14 TR 

3Tfitomftu 	I" 
(7) PHICiRsio chiciiPm zflik4 4 14 	1404 

3TRTWIFFita' atiT 	? 
HCHO 
CH3CHO 

(iii) C6H5CHO 

(iv) C6H5COC6H5 
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() 	 aftzrraff tzr*P4R : 

1. 03  
(i) CH3CH CHCH3  	 > ? 

2. Znal+  / 1120 

(ii) C6H5N = N+C1- + 
	N(C113)2 	? 

CC14  
(iii) C6H5NHCOCH3  + Br2 	? 

(iv) C6H5OH + (CH3CO)20 	? 

(•3 ) 	)0W*cm 
	 ailltff *07 Ai 

ti golf AlfA7 
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